6-7 Solving Radical Equations and Inequalities

Solve each equation.

10. 244z =0

ANSWER:
No solution

12. \.‘Ijuf -7 = \-'Il" +2

ANSWER:
9

|
14. MULTIPLE CHOICE Solve {2y +6)+ —=2=10.

Ay=1
By=5
Cy=11
Dy =15
ANSWER:
B

Solve each equation. Confirm by using a
graphing calculator.

26. yx=3=+xr+4 -1

ANSWER:
12

28. Jx=10=1-+/x

ANSWER:
no real solution

eSolutions Manual - Powered by Cognero

.PENDULUMS The formula s =2x

P
32. JTa=2=Ja+3

ANSWER:
3

G

34. Nh=6+~b =3

ANSWER:

25

4

Solve each equation.

WSy +10-5=0

ANSWER:
23

|
|
T 1'|| 3 represents
the swing of a pendulum, where s is the time in

seconds to swing back and forth, and ¢ is the length
of the pendulum in feet. Find the length of a
pendulum that makes one swing in 1.5 seconds.

ANSWER:
about 1.82 ft
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67. CCSS ARGUMENTS Which equation does not For each graph,
have a solution?
a. describe the end behavior,

VX=T+3=4 b. determine whether it represents an odd-
degree or an even-degree polynomial function,
V=2 4+7=10 and
c. state the number of real zeros.
vX+14+3=4
flx)

VX+2-T7=-10 /\
ANSWER: \_/‘”' ]
vx+2-=-7=-10

88.
68. CHALLENGE Lola is working to
]
solve(x + 5)¢ =—4 . She said that she could tell ANSWER:
there was no real solution without even working the a.
problem. Is Lola correct? Explain your reasoning. F(x) = —0 asx =+,
_,I"[.t}l —3 0 (05 X —» —
ANSWER:
Yes; since +/x+3 =0, the left side of the equation is b. odd;
nonnegative. Therefore, the left side of the equation
cannot equal —4. Thus the equation has no solution. c.3
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Jr[x]

ANSWER:
a.
F(x) > +o0 asx = +o,

F(x) =+ asx - —o;

b. even;

c.0
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